

$$\begin{aligned}
 &= \lambda \mathbf{E} [y(t-1)y(t-\tau)] + \mathbf{E} [e(t)y(t-\tau)] \\
 &\quad + \mathbf{E} [v(t)y(t-\tau)] - \lambda \mathbf{E} [v(t-1)y(t-\tau)] \\
 \Psi_y(0) &= \lambda \Psi(1) + \delta^2 + \xi^2 \\
 \Psi_y(1) &= \lambda \Psi(0) - \lambda \xi^2 \\
 \Psi_y(2) &= \lambda \Psi(1)
 \end{aligned}$$

Appendix D* - Covariance $\Psi_y(\tau) \rightarrow \tau = 0, 1, 2$

$$\begin{aligned}
 \Psi_y(1) &:= \frac{\Psi(1)}{\lambda} + \xi^2 = \lambda \Psi(1) + \delta^2 + \xi^2 \\
 &:= \frac{\lambda \delta^2}{1 - \lambda^2} \\
 \Psi_y(0) &:= \lambda \frac{\lambda \delta^2}{1 - \lambda^2} + \delta^2 + \xi^2 \\
 &:= \frac{\delta^2}{1 - \lambda^2} + \xi^2 \rightarrow \Phi_y \\
 \Psi_y(2) &:= \lambda \Psi(1) \\
 &:= \frac{\lambda^2 \delta^2}{1 - \lambda^2} \rightarrow \frac{\lambda^\tau \delta^2}{1 - \lambda^2} \text{ for } \Psi_y(\tau > 1)
 \end{aligned}$$

Appendix E - $\Gamma(\theta_1) \rightarrow \phi_1$

$$\begin{aligned}
 \Gamma(\theta_1) &= \mathbf{E} \left\{ [y(t) - \hat{y}(t|t-1)]^2 \right\} \\
 &= \mathbf{E} \left\{ [y(t) - \phi_1 y(t-1)]^2 \right\} \\
 &= \mathbf{E} [y(t)^2 - 2\phi_1 y(t)y(t-1) + \phi_1^2 y(t-1)^2] \\
 &= \Psi_y(0) - 2\phi_1 \Psi_y(1) + \phi_1^2 \Psi_y(0) \\
 &= (1 + \phi_1^2) \Psi_y(0) - 2\phi_1 \Psi_y(1) \\
 \frac{\partial \Gamma(\theta_1)}{\partial \phi_1} &= 2\phi_1 \Psi_y(0) - 2\Psi_y(1) = 0 \\
 \phi_1 &= \frac{\Psi_y(1)}{\Psi_y(0)} \rightarrow \frac{\lambda \Psi_y(0) - \lambda \xi^2}{\Psi_y(0)} \\
 &= \frac{\lambda \delta^2}{\delta^2 + (1 - \lambda^2) \xi^2}
 \end{aligned}$$

Appendix F - $\Gamma(\theta_2) \rightarrow \theta_2^* := [\phi_1, \phi_2]^\top$

$$\begin{aligned}
 \Gamma(\theta_2) &= \mathbf{E} \left\{ [y(t) - \hat{y}(t|t-1)]^2 \right\} \\
 &= \mathbf{E} \left\{ [y(t) - \phi_1 y(t-1) - \phi_2 y(t-2)]^2 \right\} \\
 &= \mathbf{E} [y(t)^2 + \phi_1^2 y(t-1)^2 + \phi_2^2 y(t-2)^2 \\
 &\quad - 2\phi_1 y(t)y(t-1) - 2\phi_2 y(t)y(t-2) \\
 &\quad + 2\phi_1 \phi_2 y(t-1)y(t-2)] \\
 &= \Psi_y(0) + \phi_1^2 \Psi_y(0) + \phi_2^2 \Psi_y(0) - 2\phi_1 \Psi_y(1) \\
 &\quad - 2\phi_2 \Psi_y(2) + 2\phi_1 \phi_2 \Psi_y(1) \\
 &= (1 + \phi_1^2 + \phi_2^2) \Psi_y(0) + 2\phi_1 (\phi_2 - 1) \Psi_y(1) \\
 &\quad - 2\phi_2 \Psi_y(2) \\
 \frac{\partial \Gamma(\theta_2)}{\partial \phi_1} &= 2\phi_1 \Psi_y(0) + 2\phi_2 \Psi_y(1) - 2\Psi_y(1) = 0 \\
 \phi_1 &= \frac{\Psi_y(1) - \phi_2 \Psi_y(1)}{\Psi_y(0)}
 \end{aligned}$$

$$\begin{aligned}
 &= \frac{\Psi_y(1) - \left(\frac{\Psi_y(2)\Psi_y(0) - \Psi_y(1)^2}{\Psi_y(0)^2 - \Psi_y(1)^2} \right) \Psi_y(1)}{\Psi_y(0)} \\
 &= \frac{\Psi_y(1)\Psi_y(0) - \Psi_y(2)\Psi_y(1)}{\Psi_y(0)^2 - \Psi_y(1)^2} \\
 &= \frac{\lambda \delta^2 (\delta^2 + \xi^2)}{(\delta^2 + \xi^2)^2 - \lambda^2 \xi^4} \\
 \frac{\partial \Gamma(\theta_2)}{\partial \phi_1} &= 2\phi_2 \Psi_y(0) + 2\phi_1 \Psi_y(1) - 2\Psi_y(2) = 0 \\
 \phi_2 &= \frac{\Psi_y(2) - \phi_1 \Psi_y(1)}{\Psi_y(0)} \\
 &= \frac{\Psi_y(2) - \left(\frac{\Psi_y(1)\Psi_y(0) - \Psi_y(2)\Psi_y(1)}{\Psi_y(0)^2 - \Psi_y(1)^2} \right) \Psi_y(1)}{\Psi_y(0)} \\
 &= \frac{\Psi_y(2)\Psi_y(0) - \Psi_y(1)^2}{\Psi_y(0)^2 - \Psi_y(1)^2} \\
 &= \frac{\lambda^2 \delta^2 \xi^2}{(\delta^2 + \xi^2)^2 - \lambda^2 \xi^4}
 \end{aligned}$$

Appendix G - $\Phi_{\theta_1^*}$ and $\Phi_{\theta_2^*}$

$$\begin{aligned}
 \Phi_{\theta_1^*} &= \Gamma(\theta_1) = \mathbf{E} \left\{ [\varepsilon_{\theta_1}(t) - \bar{\varepsilon}_{\theta_1}]^2 \right\} \rightarrow \bar{\varepsilon}_{\theta_1} = 0 \\
 &= [1 + \phi_1^2] \Psi_y(0) - 2\phi_1 \Psi_y(1) \rightarrow \phi_1 \text{ from Eq. (21)} \\
 &= \left[1 + \left(\frac{\lambda \delta^2}{\delta^2 + (1 - \lambda^2) \xi^2} \right)^2 \right] \frac{\delta^2 + (1 - \lambda^2) \xi^2}{1 - \lambda^2} \\
 &\quad - 2 \left(\frac{\lambda \delta^2}{\delta^2 + (1 - \lambda^2) \xi^2} \right) \frac{\lambda \delta^2}{1 - \lambda^2} \\
 &= \frac{[\delta^2 + (1 - \lambda^2) \xi^2]^2 - \lambda^2 \delta^4}{[\delta^2 + (1 - \lambda^2) \xi^2] [1 - \lambda^2]} \\
 &= \frac{\delta^4 (1 - \lambda^2) + 2\delta^2 \xi^2 (1 - \lambda^2) + \xi^4 (1 - \lambda^2)^2}{[\delta^2 + (1 - \lambda^2) \xi^2] [1 - \lambda^2]} \\
 &= \frac{(\delta^2 + \xi^2)^2 - \lambda^2 \xi^4}{\delta^2 + (1 - \lambda^2) \xi^2}
 \end{aligned}$$

$$\begin{aligned}
 \Phi_{\theta_2^*} &= \Gamma(\theta_2) = \mathbf{E} \left\{ [\varepsilon_{\theta_2}(t) - \bar{\varepsilon}_{\theta_2}]^2 \right\} \rightarrow \bar{\varepsilon}_{\theta_2} = 0 \\
 &= [1 + \phi_1^2 + \phi_2^2] \Psi_y(0) - [2\phi_1 - 2\phi_1 \phi_2] \Psi_y(1) \\
 &\quad - 2\phi_2 \Psi_y(2) \rightarrow [\phi_1, \phi_2] \text{ from Eq. (22)} \\
 &= \Psi_y(0)^3 - \Psi_y(2)^2 \Psi_y(0) - 2\Psi_y(1)^2 \Psi_y(0) \\
 &\quad + 2\Psi_y(1)^2 \Psi_y(2) \rightarrow \text{after some complex-algebra} \\
 &= \left(\frac{\delta^2 + (1 - \lambda^2) \xi^2}{1 - \lambda^2} \right)^3 - \left(\frac{\lambda^2 \delta^2}{1 - \lambda^2} \right)^2 \frac{\delta^2 + (1 - \lambda^2) \xi^2}{1 - \lambda^2} \\
 &\quad - 2 \left(\frac{\lambda \delta^2}{1 - \lambda^2} \right)^2 \frac{\delta^2 + (1 - \lambda^2) \xi^2}{1 - \lambda^2} + 2\lambda \left(\frac{\lambda \delta^2}{1 - \lambda^2} \right)^3 \\
 &= \frac{(\delta^2 + \xi^2)^3 - \lambda^2 (\delta^2 \xi + \xi^3)^2 + 2\lambda \delta^4 \xi^2}{1 - \lambda^2}
 \end{aligned}$$

Appendix H - $\Gamma(\theta_1) \rightarrow \phi_1$; (non) zero-mean

$$\begin{aligned}
 \Gamma(\theta_1) &= \mathbf{E} [y(t)^2 - 2y(t)y(t|t-1) + y(t|t-1)^2] \\
 &= \mathbf{E} \left\{ [\check{y}(t) + \bar{y}]^2 \right\} - 2\phi_1 \mathbf{E} \left\{ [\check{y}(t) + \bar{y}] [\check{y}(t-1) + \bar{y}] \right\}
 \end{aligned}$$

AUTHORS

First and Correspondence Author - Moh Kamalul Wafi is with Laboratory of Embedded Systems and Control, Department of Engineering Physics, Institut Teknologi Sepuluh Nopember, 60111, Indonesia

$$\begin{aligned}
 & + \phi_1^2 \mathbf{E} \left\{ [\tilde{y}(t-1) + \bar{y}]^2 \right\} \\
 & = [1 + \phi_1^2] \Psi_y(0) - 2\phi_1 \Psi_y(1) + (1 - \phi_1)^2 \bar{y}^2 \\
 \frac{\partial \Gamma(\theta_1)}{\partial \phi_1} & = -2\Psi_y(1) + 2\phi_1 \Psi_y(0) - 2(1 - \phi_1) \bar{y}^2 = 0 \\
 \theta_1^* & := \frac{\Psi(1) + \bar{y}^2}{\Psi(0) + \bar{y}^2}
 \end{aligned}$$

Appendix I - $\Gamma(\theta_2) \longrightarrow \theta_2^* := [\phi_1, \phi_2]^\top$; (non) zero-mean

$$\begin{aligned}
 \Gamma(\theta_2) & = \mathbf{E} [y(t)^2 - 2y(t)y(t-1) + y(t-1)^2] \\
 & = \mathbf{E} \left\{ [\tilde{y}(t) + \bar{y}]^2 \right\} - 2\mathbf{E} \left\{ [\tilde{y}(t) + \bar{y}] [\phi_1 \tilde{y}(t-1) \right. \\
 & \quad \left. + \phi_2 \tilde{y}(t-2) + (\phi_1 + \phi_2) \bar{y}] \right\} + \phi_1^2 \mathbf{E} \left\{ [\tilde{y}(t-1)]^2 \right\} \\
 & \quad + \phi_2^2 \mathbf{E} \left\{ [\tilde{y}(t-2)]^2 \right\} + (\phi_1 + \phi_2) \mathbf{E} \left\{ [\bar{y}]^2 \right\} \\
 & \quad + 2\phi_1 (\phi_1 + \phi_2) \mathbf{E} \left\{ [\tilde{y}(t-1) \bar{y}] \right\} \\
 & \quad + 2\phi_2 (\phi_1 + \phi_2) \mathbf{E} \left\{ [\tilde{y}(t-2) \bar{y}] \right\} \\
 & \quad + 2\phi_1 \phi_2 \mathbf{E} \left\{ [\tilde{y}(t-1) \tilde{y}(t-2)] \right\} \\
 & = \Psi_y(0) + \phi_1^2 \Psi_y(0) + \phi_2^2 \Psi_y(0) - 2\phi_1 \Psi_y(1) \\
 & \quad - 2\phi_2 \Psi_y(2) + 2\phi_1 \phi_2 \Psi_y(1) + [1 - (\phi_1 + \phi_2)]^2 \bar{y}^2 \\
 \frac{\partial \Gamma(\theta_2)}{\partial \phi_1} & = 0 \text{ and } \frac{\partial \Gamma(\theta_2)}{\partial \phi_2} = 0
 \end{aligned}$$

after some complex-algebra

$$\begin{aligned}
 \phi_1 & = \frac{\Psi_y(1)\Psi_y(0) - \Psi_y(2)\Psi_y(1) + \bar{y}^2 [\Psi(0) - \Psi(2)]}{\Psi_y(0)^2 - \Psi_y(1)^2 + 2\bar{y}^2 [\Psi(0) - \Psi(1)]} \\
 \phi_2 & = \frac{\Psi_y(2)\Psi_y(0) - \Psi_y(1)^2 + \bar{y}^2 [\Psi(0) - 2\Psi(1) + \Psi(2)]}{\Psi_y(0)^2 - \Psi_y(1)^2 + 2\bar{y}^2 [\Psi(0) - \Psi(1)]}
 \end{aligned}$$

Appendix J - $\Phi_{\theta_1^*}$ and $\Phi_{\theta_2^*}$; (non) zero-mean

$$\begin{aligned}
 \bar{\varepsilon}_{\theta_1} & = \mathbf{E} [\tilde{y}(t)] + \mathbf{E} [\bar{y}] - \phi_1 \mathbf{E} [\tilde{y}(t-1)] - \phi_1 \mathbf{E} [\bar{y}] \\
 & = (1 - \phi_1) \bar{y} \\
 \Phi_{\theta_1^*} & = \Gamma(\theta_1) = \mathbf{E} \left\{ [\varepsilon_{\theta_1}(t) - \bar{\varepsilon}_{\theta_1}]^2 \right\} \\
 & = \mathbf{E} \left\{ [\tilde{y}(t) + \bar{y} - \phi_1 \tilde{y}(t-1) - \phi_1 \bar{y} - (1 - \phi_1) \bar{y}]^2 \right\} \\
 & = \mathbf{E} \left\{ [\tilde{y}(t) - \phi_1 \tilde{y}(t-1)]^2 \right\} \longrightarrow \text{Appendix E} \\
 & = \frac{(\delta^2 + \xi^2)^2 - \lambda^2 \xi^4}{\delta^2 + (1 - \lambda^2) \xi^2} \longrightarrow \text{Appendix G} \\
 \bar{\varepsilon}_{\theta_2} & = \mathbf{E} [\tilde{y}(t)] + \mathbf{E} [\bar{y}] - \phi_1 \mathbf{E} [\tilde{y}(t-1)] - \phi_2 \mathbf{E} [\tilde{y}(t-2)] \\
 & \quad - (\phi_1 + \phi_2) \mathbf{E} [\bar{y}] \\
 & = (1 - \phi_1 - \phi_2) \bar{y} \\
 \Phi_{\theta_2^*} & = \Gamma(\theta_2) = \mathbf{E} \left\{ [\varepsilon_{\theta_2}(t) - \bar{\varepsilon}_{\theta_2}]^2 \right\} \\
 & = \mathbf{E} \left\{ [\tilde{y}(t) + \bar{y} - \phi_1 \tilde{y}(t-1) - \phi_2 \tilde{y}(t-2) \right. \\
 & \quad \left. - (\phi_1 + \phi_2) \bar{y} - (1 - \phi_1 - \phi_2) \bar{y}]^2 \right\} \\
 & = \mathbf{E} \left\{ [\tilde{y}(t) - \phi_1 \tilde{y}(t-1) - \phi_2 \tilde{y}(t-2)]^2 \right\} \\
 & = \frac{(\delta^2 + \xi^2)^3 - \lambda^2 (\delta^2 \xi + \xi^3)^2 + 2\lambda \delta^4 \xi^2}{1 - \lambda^2}
 \end{aligned}$$